
Solving 2x2x2

Pensieve Header: Solving the 2x2x2 Rubik’s Cube.

TheGenerators

n = 24;

g1 = Cycles@881, 2, 3, 4<, 85, 7, 9, 11<, 86, 8, 10, 12<<D;

g2 = Cycles@8813, 14, 6, 5<, 821, 15, 2, 12<, 822, 7, 1, 20<<D;

g3 = Cycles@887, 15, 16, 8<, 86, 22, 17, 3<, 814, 23, 9, 2<<D;

g4 = Cycles@8810, 9, 17, 18<, 84, 8, 23, 19<, 83, 16, 24, 11<<D;

g5 = Cycles@8820, 12, 11, 19<, 813, 1, 10, 24<, 85, 4, 18, 21<<D;

g6 = Cycles@8824, 23, 22, 21<, 818, 16, 14, 20<, 817, 15, 13, 19<<D;

TheProgram

Σ_ëΤ_ := PermutationProduct@Τ, ΣD;

Feed@Cycles@8<DD := Null;

Feed@Τ_D := ModuleA8i, j, k, l<,

i = Min@PermutationSupport@ΤDD;

j = PermutationReplace@i, ΤD;

IfAHeadAΣi,jE === Cycles,

FeedAInversePermutationAΣi,jEëΤE,

H*Else*L Σi,j = Τ;

ForAk = 1, k < n, ++k,

ForAl = k + 1, l £ n, ++l,

IfAHead@Σk,lD === Cycles,

FeedAΣi,j ëΣk,lE; FeedAΣk,l ëΣi,jEE
EE

EE;

$RecursionLimit = ¥;

TheRun

TableBFeed@gΑD; ä
i=1

n I1 + CountARange@nD, j_ �; HeadAΣi,jE � CyclesEM, 8Α, 6<F
TheRun

84, 29 160, 3 674 160, 88 179 840, 88 179 840, 88 179 840<
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